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Q.I  Fill in the blanks: 
 

5 X ½ = 2 ½ 

 a) 800 + 3 = ________. 
 

 

 b) ______ 50 paise coins make ₹1. 
 

 

 c) If 8 x 5 = 40 then  5 x 8 = ________. 
 

 

 d) 100 less than 634 is  _________ . 
 

 

 e) Dividing into equal groups is called  ________________. 
 

 

Q.II  Choose the correct answer from the brackets : 
  

 

 a) The face value of 8 in the number 286 is __________.  
 

 

  
 

(i)  800 (ii)  8 (iii)  80 (iv)  10 
 

 

 b) If 300 + 211 is 511 , then 211 + 300  is  ________________. 
 

 

  (i)  300         
 

(ii)  211 (iii)  511          (iv)  111 

 

 

 c) 0 x 10 =  ______. 
 

 

  
 

(i)  10                                                          
       

(ii)  0 (iii)  100 (iv)  1 

 

 
 

 d) 18  added to 700  is equal to __________________ . 
 

 

  (i) 710                         (ii) 718                      (iii) 708                  (iv)781 
 

 

 e)           ₹20 + ₹ 1= ________ 
 

 

  
 

(i) ₹ 20                 (ii)  ₹19                  (iii) ₹ 22                   (iv) ₹21 
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Q.III Solve:                                                                                                                                  
 

 a)  
    
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

H T O 

 7 9 
 

 4 3 
 

   
 

H T O 

2 2 4 
 

3 5 2 
 

   
 

H T O 

 4 1 
 

   
2 

   
 

H T O 

8 6 7 
 

 2 5 
 

   
 

 
 
 
 
 
 
 
 
 

Q. IV  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
a) 
 
 
 
 
 
 
 
 
 
 
 
 
b)  
 
 
 
 
 

Do as directed: 
 
Share equally and find how many pineapples are there in each basket. 
 

                                                    

                                      

                                     
                               
There are _________ pineapples in each basket. 
 
 Write the amount of money: 
 

                   
 

4 x 1 = 4 

          + 

         _ 

 

       _ 

 

       x 

 

        b) 

    c)         d) 

 

  D) 

 

 

d) 

       _ 

 

       _ 

 

4 x1= 4 

+ + = 
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c) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Divide: 

12 divided by  4 equals _____.                                                                                                    

Each group has ______ pencils.                    

                                                                            
                         
Compare the numbers with > , < or = sign: 
 

(i) 438             420                         (ii)    802             820 
 

 
 Find the product : 
 

a)                                                            
 
 
 
 
               
                
               x 
 
 
 
Write the numbers in correct place and solve : 
 

a)  703 – 27                                            b)  239 + 84 
 

 
 
 
 
 
 
 
 
 
 
 
 
 

H T O 

 3 4 
 

  6 
 

   
 

H T O 

   
 

   
           

   
 

H T O 

   
 

   
 

   
 

H T O 

 7 5 
 

  4 
 

   
 

b) 

X 

2 x 1½ = 3 

2 x 1½ = 3 

d) 

Q.V 

 

Q.VI 
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Look at the pictograph given below and answer the following questions. 
 
 Mode of transport 
 

Scooter 

Bus 

      Car 

     Auto rickshaw 

       Number of students 

a) How many students use scooter? _________ 
b) How many more students use bus than car? _______ 
c) How many students are there in all ? _______ 
d) Which vehicle is used least by the children? ______ 

 
Read the questions carefully and solve them. 
 
Roy  buys a comic book for ₹ 34. He gave ₹ 50 to the 
shopkeeper. How much change did Roy  get back? 
 
 
 
_____________________________________________ 
 
There are 43 children in one class. How many children are 
there in 5 classes? 
 
 
 
_____________________________________________ 
 
 

H T O 

   
 

   
 

   
 

H T O 

   
 

   
 

   
 

1 x 2 =2 

     2 x 2 = 4 
Q.VIII 

Q.VII 

a) 

  b) 

Ans
: 

Ans

: 
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